GEOMETRY

SQUARE RECTANGLE CIRCLE

P =14s S P=2a+2b a P =2nr

A=5s? A=ab A= mr?

S b

TRIANGLE PARALLELOGRAM CIRCULAR SECTOR
P=°1l+b+c P=2a+2b L=mr—
A= Ebh b A =Dbh 11 a 5 ]

A = tr 3600 L .D
b b
PYTHAGOREAN THEOREM CIRCULAR RING SPHERE
@+ b2 = 2 A=n(R?>—-1?%) S = 4nmr?
4 3

c=+a?+b? c a nr

b
TRAPEZOID RECTANGULAR BOX RIGHT CIRCULAR CONE
P=a+b+c+d a A = 2ab + 2ac + 2bc A= mr? +mrs
= C
atb 4 V= abe s=+r2+h?
A=h 5 4 1
a V= -nr’h
3 )
h
b b
CUBE CYLINDER T
——h
A= 612 A=2nr(r+h)
h FRUSTUM OF A CONE

eCalc.com

1
V= §nh(r2 +rR + R?)




